[Tpe3seHTaung
TemMa: 3a4a4a Ha CcoCTaB1eHune
CUCTEMbl YpaBHEHUA.

AsTop: TypaneB Cyxpab 9 «b» knacc



Cawa v MNawa
Hocunu ap6by3bl 13
MalUMHbI Ha
npunaBoK. OHU
BMecCTe nepetawunnm
ap6by3bl Ha 4 MUHYTHI
bbiCTpee, yeM 3TO
nenana 6ol MNMawa
OAWH, N HA 9 MUHYT
bbiCTpee, yeM 3TO
nenana 6bl 0aUH
Cawa. 3a CKO/bKOo
MUHYT CMNpaBuJINCb
6bl ¢ paboToun
Ka>XAbl1 U3 HMX MO
OTAEeNbHOCTU?

\




[TyCTb:

X -BpeMsi COBMeCTHOMN paboThbl
X:1-BpeMsa paboTtbl MNMawwu
X2-BpeMa pabotbl Cawmn

Torpga, coctaBnisgeM CUCTEMY:
[ X1-x=4

X2-X=9
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X X2 X

—

X2-9X+X2+4X=X2+9x+4x+36

x2=36

X=6 MUHYT ; X=-6( He yaOBNEeTBOPSET YC/IOBUIO)
X1=6+4=10 MmuHyT(lMNawa)

X2=64+9=15 MmnuyTt(Cawa)

OtBeT: 10 MUHYT; 15 MUHYT.



Cnacnbo 3a BHUMaHue.



